
1 kwartier      =       ........................................................................................................     seconde

12 minuten      =       ........................................................................................................     seconde

24 kwartier      =       ........................................................................................................     uur

15 minuten      =       ........................................................................................................     kwartier

30 minuten      =       ........................................................................................................     kwartier

6 uur      =       ........................................................................................................     kwartier

150 minuten      =       ........................................................................................................     kwartier

11 uur      =       ........................................................................................................     kwartier

180 minuten      =       ........................................................................................................     uur

2 kwartier      =       ........................................................................................................     seconde

900 seconde      =       ........................................................................................................     kwartier

2 uur      =       ........................................................................................................     seconde

1 uur      =       ........................................................................................................     seconde

6 minuten      =       ........................................................................................................     seconde

3600 seconde      =       ........................................................................................................     uur



1 kwartier = 15 minuten = (15 x 60) seconde  =  900 seconde

12 minuten = (12 x 60) seconde  =  720 seconde

24 kwartier = (24 : 4) uur  =  6 uur

15 minuten  =  1 kwartier

30 minuten = (30 : 15) kwartier  =  2 kwartier

6 uur = (6 x 4) kwartier  =  24 kwartier

150 minuten = (150 : 15) kwartier  =  10 kwartier

11 uur = (11 x 4) kwartier  =  44 kwartier

180 minuten = (180 : 60) uur  =  3 uur

2 kwartier = (2 x 15) minuten = 30 minuten = (30 x 60) seconde  =  1800 seconde

900 seconde = (900 : 60) minuten = 15 minuten  =  1 kwartier

2 uur = (2 x 60) minuten = 120 minuten = (120 x 60) seconde  =  7200 seconde

1 uur = 60 minuten = (60 x 60) seconde  =  3600 seconde

6 minuten = (6 x 60) seconde  =  360 seconde

3600 seconde = (3600 : 60) minuten = 60 minuten  =  1 uur


